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Answer all questions

This paper consists of 16 pages. Each Multiple Choice Queston (MCQ) 1s
provided with four options (A), (B). (C) and (D) Identify the correct option and
darken/fill the corresponding circle (A)/(B)/(C)/(D) with Blue/Black Ballpoint Pen on the OfMF
Answer Sheet

For each question, 2 marks will be awarded for correct answer
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. Which of the following structures is found on the inner surface of the inner mitochondnal

ans
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membrane”?
A) Microsome (B) Oxysome
C) Sub-untt of Parson (D) Quantasome
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(D) RrHITSTY

C) »oTR ToemP

The =luid Mosaic Model of cell membrane was proposed by

A) Danelll and Harvey (B) Danielli and Davason
(C) Singer and Nicolson (D) Davason and Nicolson
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(A) TIEW § IR B) gfak ¢ grom
(C) %2 < [N (D) TS 8 e
(A} Chiamydomonas (B) Spirogyra
(C) Ulothnx (D) Chiorella
wgARE ST 5
(A) ChlamydomonAs (B) Spirogyra »
(C) Ulothnix (D) Chlorella

Which of the following statements i1s pot correct for peroxisome”
(A) It 1s bounded by a single membrane
(B) The term was proposed by de [uve

(C) It contains DNA and nbosomes
(D) It contains several c:;dises




5. Division of cork cambium gives rse 1o

(A) Phellem and phelloderm (B) Phelloderm and dioblast

(C) Phellem and xylem (D) Xylem and phloem
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6. The adhesion between stamens and carpels s called

(A) epipetalous (B) episepalous

(C) polyadelphous (D) gynandrous
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(C) Wﬁy’é (D) SIE=Teg™

7. Maltose f.a disaccharnde 1s composed of

(A) glucose + glucose (B) glucose + lactose

‘D) lactose + fructose

(C) glucose + fructose

8. Plastocyanin i1s a/an corntammg metalloprotein
(A) zinc (B) ron
(C) copper (D) cobalt
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9 Pepsinogen 1s converted to active pepsin Dy
(A) HCI (B) bile salt

(C) Cu” (D) enterokinase
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(A) HCl (B) {v@ 7]
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(C) Cu" D) LHIAIRAE

10. The term ‘nbozyme was introduced by
(A) Alexander Fleming (BY Kelly Kruger
(C) David Phillips (D) Joseph Priestley

11. In prokaryotic cells oxidative phosphorylation takes place in the
(A) cytosol (B) mitochondnal matrix

(C) inner mitochondrial membrane (D) plasma membrane

(A) F IS B) m‘;t? 3
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12. How many substrate-level phosphorylation reaction takes place in Krebs cycle?

(A) One (B) Two
(C) Three (D) Four




13. The accessory pigments phycobiins are present abundantly n
(A) dadtoms and red algae
‘B) red algae and cyanobactena

(C) green algae and diatoms

(D) Euglena and diatoms

o

14. in C, plants the initial CO, acceptor 1s
(A) 3-phosphoglycerate (B) glyceraldehyde-3-phosphate

(C) ribulose-1, 5-bisphosphate (D) sedoheptulose-7-phosphate
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(D) PreeTEleh e 7. 07

15. Kranz anatomy 1S seen in

(A) maize and pineapple

(C) sugarcane and maze
¢! Je Tyt Fu ogm
(A) $81 8 =AH

(C) &M 8 $ITS

(B) cotton and oat

(D) orchid and pineapple

(B) PCI & 8b-4

(D) =S 8 WA



16. Which of the following 1s not correct for bacterial photosynthesis?

(A) Only PSI is present (B) H.S acts as the electron donor

(C) Both PSI and PSIl are present (D) Oxygen is not released
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17.  The hommone responsible for breaking the dormancy of seed is

(A) indole acetic acid (B) gibberellins

(C) abscisic acid (D) cytokinin
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18. The amino acid 1s directly used as the precursor in the formation of indole acetc acd
(A) glutamic acid (B) alanine
(C) tyrosin (D) tryptophan
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19. The process of gluconeogenesis takes place only 1n

(A) liver and kidney (B) gall bladder and stomach

(C) gall bladder and pancreas (D) stomach and cesophagus
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20.  Which enzyme of saliva is antibacteral in nature?

(A) Ptyahn (B) Phosphatase
_l_Cl Lysozyme (D) Maltase

0! FERDR @W Bernah Gl mrral )

(C) AR EES ) (D) TALE

24. Kwashiorker disease is caused due to

(A) vitamin C deficiency (B) excess of fat

(C) deficiency of protein (D) excess of proten
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22. s a natural anticoagulant compound

(A) Hepann (B) Sodium citrate
(C) Potassium citrate (D) Sodium fluonde
yf_ w o ogfde IFTERREE ome |
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23. Atherosclerosis is caused by the increase of _____ n the blood
(A) protein (B) glucose
(C) cholesterol (D) alcohol
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24. Podocytes are specialized celis found In
(A) wisceral layer of Bowman's capsule (B) panetal layer of Bowmans capsul

(C) glomerulus (D) Henle's loop
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25. Which of the following 1s an unusual constituent of unne?
(A) Urea (B) Ammona
(C) Ketone body (D) Hippunc acd
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26. Which of the following is not a male secondary sex organ?’
(A) Epididymis (B) Cowper's gland
C) Bartholin's gland (D) Vas deferens
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27. The process of transtormation of spermatid into mature spermatozoon s called
(A) spermeation (B) spermatocytogenesis

(C) spermiogenesis (D) spermatogenesis
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28. The main male sex hormone, testosterone s secreted Dy

(A) Sertoh cells (B) stroma

(C) spermatogenic cells (D) interstitial cells of Leydig
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29  Painful menstruation is known as
(A) oligomenorrhea (B) menorrhagia

(C) amenorrhea (D) dysmenorrhea
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30. Scuttellum s the of monocotyledonous plant

(A) embryo axis (B) cotyledon

(C) endosperm (D) coleoptyle

(B) WA
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31. The process of converting nitrogenous compounds to ammonia is called
(A) nitnfication (B) ammonification

(C) denitnfication (D) nrtrate reduction
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32. Which of the folloming statements 18 wrong for AIDS?
(A) It 1s a blood-bome disease
(B) It 1s transmitted chiefly by sexual contact

(C) It is caused by HIV

(D) Its causal agent belongs to rotavirus group
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g9, The chromosome theory of heredity was proposed by
(A) Hardy and Weinberg (B) Sutton and Bover
(C) Morgan and Muller (D) Watson and Crick
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34. In meiosis two homologous chromosomes form bivalents by

(A) synaptonemal complex https://www.tripuraboard.com

(B) Golgi complex
(C) complex medum

(D) inttiation compiex
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35. When more than one phenotypic character is controlled by a single gene 1t 1s called

(A) epistasis (B) co-dominance

(C) duplication (D) pleiotropism
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All antibodies are commonly known as

(A) albumin (B) a -globulin

(C) PB-globulin (D) immunoglobulin
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(A) SR B) aq-QfASER
(C) p-cnfaEfam (D) W

37. Antibody that is capable of crossing the placenta Is

(A) IgM (B) 1gG
C) gk
‘(_2 g (D) IgA
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(A) |

(C) gE (D) IgA
38. Find {e incorrect match of the disease and their causative agent.
(A) Typhoid — Salmonella typhi
(B) Pneumonia — Streptococcus pneumoniae
(C) Syphilis — Bordetella partusis
(D) Gonorrthea — Neissena gonorrhoeaé
y‘mﬂsrﬁ%?:ﬁ‘z*ﬁz?mww
(A) DETTWT — Salmonella typhi
ﬂ m — Streptococcus pneumoniae



39. AOd precipitation contains higher amounts of
(A) hydrochlonc acid and nitric acid
(B) suifunc acid and nitnc acid
(C) sulfunc acd and acetic acd

(D) hydrochlonc acd and oxalic acd
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o 40. “itai lta disease of human being is caused Dy

ion

. (C) cadmium (D) nicke!
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(C) IFTSNETR (D)

41. In the ecosystem of forest the producers are
(A) bactena (B) fung

(C) all forms of green plant (D) zooplankton
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42. Example of 3 natural organic insecticide s
‘A) lead arsenate (B) nicotin sulfate

(C) sodium fluonde (D) malathion
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43 Which one of the following rRNAs is not found in the Cytosolic nbosomes of eukaryotes”?
-ﬁ:w 35 (B) 58S

ol £05% (D) 165
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44. lreguiarly arranged vascular bundles within the ground lissue are called

(A) actinostele (B) radial stele

(C) atactostele (D) plectostele
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45. Which of the following 1s not correctly paired?
(A) Mitochondna — Crnistae (B) Lysosome — Microtubule

(C) Mntochondna — Cellular respiration (D) Ribosome — Protein synthesis
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46. Which of the following 1s not an example of compound lipid?
(A) Phospholipids (B) Glycolipids

(C) Waxes (D) Gangliosides
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47. In the mitochondrial matrix, pyruvate is first converted to acetyle CoA by a process caled
(A) substrate level phosphorylation (B) dehydrogenation

(C) oxidative decarboxylation (D) condensation

89) TRLRRAR iz MFf Wi @ ofFmm wHHRA Coa-z R W T o=
(A) TRANOETSN  TERAREH (B) foarirgferemm

i@W (D) FACEACP



48.

-1-4

49.
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50.
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The part of the stomach attached to the oesophagus IS called

(A) pylorus (By cardiac stomach
(C) fundus (D) body

(A) <IBFTETH (B) :Fﬂ%m?ﬁ HTEH |

(C) TTETH (D) =

|dentify the correct formuia for the tetrasomics
(A) 2n -2 (B 2n+2

(C) 2n 151 (D) 2n+1+1
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(AY 2n -2 B) 2n+2

(C) 2n-1-1 (D) 2n+1+1

Male larva of silkworm poOSSesses

(A) Ishiwata's gland (B) Herolds gland
(C) Green gland (D) Pineal gland
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